JET

JEB-1 Bench Top Edge Bander

708000M
230/50-60/1

PARTS LIST
ERSATZTEILLISTE
LISTE DE PIECES

WMH Tool Group AG

Bahnstrasse 24, CH — 8603 Schwerzenbach
www.wmhtoolgroup.ch; info@wmhtoolgroup.ch
Tel +41 (0) 44 806 47 48

Fax +41 (0) 44 806 47 58

P-708000M 07/05




JEB-1 Edge Bander

32 4@ 7(2)\1

Bl 3
5(8)

1 2 8 40(3)
iy S
)




Parts List: JEB-1 Edge Bander

Index No. Part No. Description Size Qty
R JEB-101........cc....... SUPPOIT TADIE <. ceree e e e e e e e e e e e e e e e e e e e e e e e e e ee s 1
2, JEB-102.......oveveeeennn. SHUD e b e e e e e e s 1
1 J TS-1503021............. Socket Head Cap SCrew.........ccveeevviviiieeeeeennnn M6 x10.......cceeeeeeenn. 16
4o, JEB-104 .......oeevveeeen. Flat Washer ... e MB X 20.....cccuuveeeeeennnne 7
B, JEB-105.......ccccennnn. L0 o] o1 gl =To (o T= TN U 1o = 2P 2
B JEB-106.........ceeeeenn. ROMB ... e e e e e e e e e e e e e e s 1
T o, BB-6200ZZ .............. Ball BEAring........ccuveeveeeiiiiiiiieeeeiieeee e #6200ZZ ... 2
S J TS-1505131............. Socket Head Cap SCrew.........ccveeevviviiieeeeeennnn M10 X 80.....ovvvvvrrrnnnnnnns 1
(S TS-1533052............. Phillips Pan Head Machine Screw....................... M5 x16....cceiiiiiiin, 3
10, JEB-110.....cceeeeeennn. Handle (RIGNL) ... e e 1
11, JEB-111.....ccveeeeeen. HANAIE (LETL) e e e 1
12 e, TS-1541021............. Nylon Lock HEX NUL .......cooiiiiiiiiiiieie e MB...oviieieeiiiiiiieeeeeeee 2
13............. JEB-113.......ccccnne. Retaining Clamp SCrew .........ccoovccvviieeeeiiinniceenenn. M5 x60.......ccceeiiiienn, 2
14 .. TS-1550031............. Flat Washer ... e M5, 2
15, JEB-115.....cccceeeeeeen. Heat ShIeld ... e s 1
16............. JEB-116.......ccccnn.. Top RetaiNiNg Clam .......uuieieieiiiiiiiiiiiiiire e res ceeeeeeeaaaaeaaeeaaaeeeaeaaaeaes s 1
17............ JEB-117 ....cccoeen. Bottom Retaining Clamp........covviiiiiiiiiiiiiiiiiiiie s e e 1
18 ., JEB-118......ccccceeeeen. NOZZIE ... 070236......cccuvvveeeeeeens 1
19, JEB-119E................. HOEAIF GUN Lo 230V i 1
20 . JEB-120E................. Electric Cord ... 230V i 1
21 TS-1514031............. Socket Head Flat SCrew .........ccccccvvviiiiiiieeennnn, M6 x20........cceeeveeeen, 2
22 i JEB-122......eeeeeee. WOTK TabBIE ... e e 1
23 e JEB-123......ccceeeeenn. RUDDEI FOOL. ..ottt et e e s 4
24 ... TS-1482031............. HEX Cap SCreW......ooouviiiiieeee et e MB X16.....ccevvveeeeaennnne 4
25 e JEB-125.....ccceeeeee. B it e e e e e e e e e s 1
26 JEB-126........cccnn. FEINCE . s 2
27 i TS-1533052............. Phillips Pan Head Machine Screw....................... MS x16....coeiiiiiei, 2
28 i TS-1550061............. Flat Washer ... e M8 4
29 i TS-1540061............. HEX NUL...coee e M8 2
CT0 TS-1540071............. HEX NUL...coee e MLO...oeee, 2
31 TS-1550041............. Flat Washer ... e MB...oviieieeiiiiiiieeeeeeee 1
32 TS-1503031............. Socket Head Cap SCrew..........cveeevviiviieeeeeeninnn, M6 x12.....cooeviiieien, 1
33 JEB-133.....cciieeeeen. Heat ShIeld ... e s 1
34 TS-1550041............. Flat Washer ... e MB...oviieieeiiiiiiieeeeeeee 7
35 e JEB-135.....ccceeeeeen. SHUD e b e e e e e e e s 2
36 .. JEB-136........ccccvnnn. Lower EAQe GUITE .....cooeeieeeeeeeee e e e 2
Y A JEB-137...cccoeeein. Hex Cap Screw (Full Thread) .........ceeveveiiiiinnnen. M8 x 100........ovvvvvernnnnns 1
38 . TS-1540061............. HEX NUL..ccoe e M8 1
39 TS-1503041............. Socket Head Cap SCrew..........cveeevviiviieeeeeeninnn, M6 x16.......cceeveeeeenn. 1
40 ............. TS-1540031............. HEX NUL....o e M5, 3
41 ............. JEB-141.........uuuen.. SPIACET ..ttt e e ee e aas aaae 1
42 i JEB-142................... Knife Guard (RIGNL) .......ueeeiiiieiieiieeee e e e e e e es s eeees 1
43 ... JEB-143......ccccceeeee. KNIE BASE ...ttt e e e e e s 1
44 .......uu. TS-1503081............. Socket Head Cap SCrew.........cceveeevviiviieeeeeennnen, M6 x35.....ccoiiiiii, 1
45 i, JEB-145................... 1] ] o USRS 1
46 ....vvvenne JEB-146........cc........ Lo o1 g S 1= P 1
vy JEB-147.....cccceenn. Knife Guard (Left) .......cooieiiiii s e e 1
48 ............. JEB-148.........ccee... BOTOM KNITE ... e e 1
49 .. JEB-149.................. L0170 0¥ o 18 ] o o U UUURR 1
50 ... JEB-150.......ccccennn. Double Edge Trimmer (N0t SNOWN)........coovvviiiiiies e e 1
51............ JEB-151 ..., Knives for Double Edge Trimmer, set of 4 (not shown) ..........ccccceeeeiiinnnnn. 1



